S6 hoc cua s6 mil (SO mii &m)

w oL

Tem_
(-3)" = (-5) =
DA =
6" +9=
(—10)7? +9 =
400 +(=3) =
9* -8 =
4D + (=5) =
(3" ~7=
(—8)° —7=
9° +2 =

Ngay thang: Diém:

(2 +10=
8% +(-8) =
20+ (-2) =
oD 4+ (—7) =
(—9)( D +5 =
(—8) =7 =
9 —5=
gCD 4 g =
(-1 =3 =

(-6)+(-8) =
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S6 hoc ctia s6 mil (SO mil &m)

Tén:

(=5’ = (=5 =6
D= (A=5

6> +9 =45

901 1
— (_2) +0= — =0
(-10) 7 100 9100

40D 4 (=3) = (—%) = (—2%)
9 -8=73

47D +(-5) = (—%) = (—43)
(-3)" = 7=(-6)

(—8)? —7=157

9’ +2 =283

Ngay thang: Piém:

19 |
(-7 +10= = =95

8+ (-8) = () = (Te)
2+ (<2) = (-1)

- 62 8
IV +(7) = (-5) = (-63)

(-9 +5= 48%6 = 58%
&P -7= (2] = (60)
90 —5=(-4)
8(_1)+9=§=9é

D) =3=(2)

(-6)+ (-8 = (-14)
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